
fzpdp mwptpay; 
tFg;g[ - 11                        mjpfhuk; 1 – 3                 kjpg;bgz; - 35 
 

midj;J tpdhf;fSf;Fk; tpilasp    5x2=10 
 

1. ikar;brayfj;jpd; gFjpfs; ahit? 
2. Xsp tHp vGj;Jg; gog;ghd;- tiuaW. 

3. 11110101102 = (?)16 

4. XOR thapypd; bka;gl;oay; vGJf. 
5. fl;lis bjhFjp ve;jr; bray;fis bray;gLj;JfpwJ? 

 

midj;J tpdhf;fSf;Fk; tpilasp    5x3=15 
 

6. MwhtJ jiyKiwapd; jd;ikfis RUf;fkhf vGJf. 
7. 15010 f;F epfuhd gjpd;ik epiy vz;iz ,Uepiy 

vz;zhf khw;wp/ 
mjid vz;zpiy vz;zhf khw;Wf. 

8. (i) A616  =  (?) 2 
(ii) BE16  =  (?)2   

9. jutpd; msitg; bghWj;J Ez;braypia tifg;gLj;Jf. 
10. rpf;fyhd fl;lis mikf;fg;gl;l fzpdpfSf;F 3 v-fh- 

jUf. 
 

midj;J tpdhf;fSf;Fk; tpilasp  2x5=10 
 

11. fzpg;bghwpapd; mog;gil ghfq;fis tpsf;Ff. 
( my;yJ) 
fzpg;bghwpapd; gy;ntW jiyKiwfis tpsf;Ff 

12. (i) 11010102 + 1011012 (ii) 11010112 – 1110102 
(my;yJ) 
Ez;braypapd; gz;g[f;TWfis tpsf;Ff. 

------------------------------------------------------------------------ 
fzpdp mwptpay; 

tFg;g[ - 11 mjpfhuk; 1 – 3 kjpg;bgz; - 35 
 

midj;J tpdhf;fSf;Fk; tpilasp   5x2=10 
 

1. ikar;brayfj;jpd; gFjpfs; ahit? 
2. Xsp tHp vGj;Jg; gog;ghd;- tiuaW. 

3. 11110101102 = (?)16 

4. XOR thapypd; bka;gl;oay; vGJf. 
5. fl;lis bjhFjp ve;jr; bray;fis bray;gLj;JfpwJ? 

 

midj;J tpdhf;fSf;Fk; tpilasp   5x3=15 
 

6. MwhtJ jiyKiwapd; jd;ikfis RUf;fkhf vGJf. 
7. 15010 f;F epfuhd gjpd;ik epiy vz;iz ,Uepiy 

vz;zhf khw;wp/ 
mjid vz;zpiy vz;zhf khw;Wf. 

8. (i) A616  =  (?) 2 
(ii) BE16  =  (?)2   

9. jutpd; msitg; bghWj;J Ez;braypia tifg;gLj;Jf. 
10. rpf;fyhd fl;lis mikf;fg;gl;l fzpdpfSf;F 3 v-fh- 

jUf. 
 

midj;J tpdhf;fSf;Fk; tpilasp  2x5=10 
 

11. fzpg;bghwpapd; mog;gil ghfq;fis tpsf;Ff. 
( my;yJ) 

fzpg;bghwpapd; gy;ntW jiyKiwfis tpsf;Ff 

12. (i) 11010102 + 1011012 (ii) 11010112 – 1110102 
(my;yJ) 

Ez;braypapd; gz;g[f;TWfis tpsf;Ff. 
 

tpdh totikg;g[: uhn$!;tud;. m.nk.ep.gs;sp/ nkycAh;/ jQ;rht{h; khtl;lk; 

COMPUTER SCIENCE 
STD : 11      CHAPTER 1 – 3 MARKS : 35 

 
ANSWWER ALL THE QUESTIONS  5X2=10 
 

1. What are the components of  a CPU? 
2. Define – Optical Character Reader. 
3. 1110101102 = (?)16 
4. Write the truth table for XOR Gate. 
5. What are the types of operation that the 

instruction set carries out? 
 
ANSWER ALL THE QUESTONS 5X3=15 
6. Write the characteristics of sixth generation. 
7. Convert 15010 upto binary, then convert that 

binary number to a octal. 
8. (i) A616 = (?)2 (ii) BE16 = (?)2 
9. Classify the microprocessor based on the size of 

the data. 
10. Write the 3 CISC Processors. 

 
ANSWER ALL THE QUESTIONS 2X5=10 
11. Explain the basic components of a computer. 

(or) 
Discuss the various generation of computers. 

12. (i) 11010102 + 1011012 
(ii) 11010112 – 1110102 

(or) 
Explain the characterises of a Micro Processor. 
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